AL RAvIT7—I\
Side Cutter Arbor

¥ JIS fllET 5S4 ARV AFILY —H,
) For JIS side cutter and metal saw.

AHO-A
HSK-A/E/F/C
HSK-T

C

UTsS

ST
il
RAEEER
7y1 578

&

ut

2
e
it
¥
=
—

.
i
T
s
L
I

Ci  Dn Gi

NS N AN}

Pnyd buni

30~~Hi~|

1— »H«B1
4#4

L _u

WSSt

J3p|oH 33]10D

Lol
.0
4*9%
4*34»

J3p|OH 0497 .Y
NS SOgD

7\

g7
2 F
=0
57
Sy
c Y
54
25
ey
=3
5
4%
o Y
ic
3% BEHy 4-§
7 ] D1 2573 T
57 A/%cijgl Type | (he) G1 K1 H3 Cutter dia.
7 Example
0790 00113075 | BT30 -SCA13 -75 1 13 75120 |M12 X 1.25/15 ] - - 13578,10,1212 17 | 0.7 23,760 50
0790 00116075 -SCA16 -75 2 16 75|26 M14 X 1516 | 4 |17.2/3,5,7,8,10,12 |13 |22 |0.9| 23,760 | 50 ~ 63
0790 00122075 -SCA22 -75 2 22 75|34 |M20 X 1.5/21 | 6 |23.6/3,5,7,8,10,12 18|30 |1.2| 23,760 | 60 ~ 125
- 0790 00313060 | BT40 -SCA13 -60 1 13 |60|20 M12X125|15 - | - |3,5,78,10,12|12 17 1.4 27,000 50
Z? 0790 00313090 -90 1 13 90 |20 |[M12X 12515 - - 135,78,10,12112 17 | 1.7 28,080 50
g % 0790 00316075 -SCA16 -75 2 16 | 7526 | M14 X 15/16| 4 |17.23,5,7,8,10,12 |13 |22 |[1.4 | 27,000 | 50 ~ 63
%é 0790 00316105 -105 | 2 16 |105/26 |M14 X 1.5/16| 4 |17.2/3,5,7,8,10,12|13 |22 |1.6| 28,080 | 50 ~ 63
27 0790 00322075 -SCA22 -75 2 22 75|34 |M20 X 1.5/21 6 |23.6/35,7,8,10,12 18|30 1.7 | 27,000 | 60 ~ 125
g@ 0790 00322120 -120 | 2 22 120 34| M20 X 1.5/21| 6 |23.6/3,5,7,8,10,12 |18 30 | 2.1| 28,080 | 60 ~ 125
s 0790 00327075 -SCA27 -75 2 27 75140 M24 X2 25| 7 | 29 |35,78,10,12 21|32 |2.0| 27,000 | 75~ 100
%):I;/ 0790 00327120 120 | 2 27 1120140 | M24 X2 (25| 7 | 29 |35,7,8,10,12 /21 32 2.4 28,080 | 75~ 100
_ 0790 00332090 -SCA32 -90 2 32 90 |46 | M30 X2 |30 8 | 34 |35,7,8,10,12 |26 |41 | 2.6 29,160 | 100 ~ 250
2 T% 0790 00513075| BT50 -SCA13 -75 1 13 75120 |M12X 12515 - - 13578,10,12 12 17 4.3 32,400 50
%;g 0790 00513105 -105 | 1 13 |105/20 M12X125|15 - | - |3,5,7,8,10,12|12 |17 4.4 34,560 50
7R 0790 00516090 -SCA16 -90 2 16 90 |26 |M14 X 1.5 16 4 17.2|3,5,7,8,10,12 |13 |22 |4.1| 34,560 | 50 ~ 63
Elld 0790 00516120 -120 | 2 16 120/ 26 |M14 X 1.5/16| 4 |17.2/3,5,7,8,10,12 |13 | 22 |4.2 | 35,640 | 50 ~ 63
g 7 0790 00522090 -SCA22 -90 2 22 90 |34 |M20 X 1.5/21| 6 |23.6/3,5,7,8,10,12| 18 | 30 |4.4| 34,560 | 60 ~ 125
s !/
5% 0790 00522135 135 | 2 22 13534 | M20 X 1.5/21| 6 |23.6 3,5,7,8,10,12 | 18 30 4.7 | 36,720 | 60 ~ 125
g S 0790 00527090 -SCA27 -90 2 27 90 (40| M24 X2 |25| 7 | 29 |35,7,8,10,12 21 |32 |45 34,560 | 75~ 100
0790 00527135 135 | 2 27 135/ 40| M24 X2 (25| 7 | 29 35,7,8,10,12 /21 32 4.9| 36,720 | 75~ 100
8;4 0790 00532090 -SCA32 -90 2 32 90 |46 | M30 X2 |30 8 | 34 35,7,8,10,12 26 | 41 |4.9| 34,560 | 100 ~ 250
2z P4 0790 00532135 135 | 2 32 |135/46| M30 X2 |30 8 | 34 |35,7,8,10,12 |26 |41 5.7 | 36,720 | 100 ~ 250
%’E 0790 00540090 -SCA40 -90 2 40 90 | 55| M36 X3 |36 10 425|3,5,7,8,10,12 31|46 59| 34,560 | 150 ~ 315
. 0790 00540135 135 | 2 40 |135/55| M36 X 3 | 36|10 |42.5/3,5,7,8,10,12|31 |46 | 6.7 37,800 | 150 ~ 315

162 BFHmbTABIEEL, /w Specials on request




A1FHA4XHhy 2
For Inch size

S BEhy a1
Emd— kR Ei5 :
Type C1 kg Cutter dia.
Code Model Example
0790 01112075 | BT30 -SCA12.7 -75 1 12.7 75120 |M12 X 1.25/1 3,5,7,8,10,12 23,760
0790 01115075 .SCA15.875 -75 | 2 | 15875 75 26 M14 X 1.5 16 3.18/17.42 3,57,8,10,12 13 22 1.2 23,760 | 50 ~ 63
0790 01122075 -SCA22.225 -75 2 22.225 | 75|34 |M20 X 1.5 21 3.18/23.82| 3,5,7,8,10,12 | 18 | 30 |1.5 23,760 | 60 ~ 63 AHOA
0790 01312060 BT40 -SCA12.7 -60 1 12.7 60 | 20 [M12 X 1.25/ 15| - - 13578,10,12 |12 1 17 |1.4 | 27,000 50 %
0790 01312090 -90 1 12.7 90 | 20 [M12 X 1.25/ 15| - - 1357:8,10,12 |12 17 | 1.7 | 28,080 50 e
0790 01315075 -SCA15.875 -75 2 15.875 | 75|26 M14 X 1.5/ 16 3.18/17.42| 3,5,7,8,10,12 | 13 |22 1.4 | 27,000 | 50 ~ 63 uTS
0790 01315105 105 | 2 15.875 105/ 26 M14 X 1.5/ 16 |3.18/17.42| 3,5,7,8,10,12 |13 |22 | 1.5| 28,080 | 50 ~ 63 ST
0790 01322075 -SCA22.225 -75 2 22.225 |75 34 M20 X 1.5/ 21 3.18/23.82| 3,5,7,8,10,12 | 18 | 30 | 1.7 | 27,000 | 60 ~ 63 FR
0790 01322120 120 2 22.225 |120| 34 |M20 X 1.5/ 21 3.18|23.82| 3,5,7,8,10,12 | 18 | 30 |2.0 28,080 | 60 ~ 63 BHiE i ER
0790 01325075 -SCA25.4 -75 2 25.4 75|40 M24 X 2 | 25 6.35|27.78| 3,5,7,8,10,12 | 21 | 32 |2.0 27,000 | 75 ~ 125 Frh
0790 01325120 120 | 2 25.4 120 40 M24 X 2 | 25|6.35/27.78| 3,5,7,8,10,12 | 21 | 32| 2.4 28,080 | 75~ 125 gf
0790 01331090 -SCA31.75 -90 2 31.75 90 46| M30 X 2 | 30|7.92/34.92| 3,5,7,8,10,12 | 26 | 41 |2.6| 29,160 | 100 ~ 250 E;
0790 01512075 BT50 -SCA12.7 -75 1 12.7 75120 |M12 X 1.25/15 | - - 13578,10,12 | 12|17 |4.3 | 32,400 50 gi
0790 01512105 -105 | 1 12.7 105/ 20 M12 X 1.25/ 15| - - 1357,810,12 | 12|17 |4.4 | 34,560 50 ™5
0790 01515090 -SCA15.875 -90 2 15.875 |90 |26 |M14 X 1.5 16 3.18|17.42 3,5,7,8,10,12 | 13 |22 4.2 34,560 | 50 ~ 63 o1
0790 01515120 -120 | 2 15.875 (1201 26 M14 X 1.5/ 16 3.18/17.42| 3,5,7,8,10,12 | 13 22 | 4.4| 35,640 | 50 ~ 63 E‘E
0790 01522090 -SCA22.225 90 2 22.225 |90 |34 M20 X 1.5/ 21 3.18/23.82| 3,5,7,8,10,12 | 18 | 30 | 4.4| 34,560 | 60 ~ 63 %,T,
0790 01522135 135 | 2 22.225 135 34 M20 X 1.5/ 21 3.18/23.82| 3,5,7,8,10,12 | 18 | 30 4.7 | 36,720 | 60 ~ 63 S
0790 01525090 -SCA25.4 -90 2 25.4 90 40| M24 X 2 | 25 6.35|27.78| 3,5,7,8,10,12 | 21 |32 |4.5| 34,560 | 75 ~ 125 =
0790 01525135 -135| 2 254 135 40| M24 X 2 | 25 6.35/27.78) 3,5,7,8,10,12 21 1 32 /4.9 36,720 | 75 ~ 125 «gg
0790 01531090 -SCA31.75 -90 2 31.75 90|46 | M30 X 2 |/ 30|7.92/34.92| 3,5,7,8,10,12 | 26 | 41 | 4.7 | 34,560 | 100 ~ 250 gl;lrf
0790 01531135 135 | 2 31.75 135/46 | M30 X 2 | 30|7.92|34.92| 3,5,7,8,10,12 | 26 | 41 |5.2| 36,720 | 100 ~ 250 “
0790 01538090 -SCA38.1 -90 2 38.1 90 | 55| M36 X 3 | 36 9.52/42.06| 3,5,7,8,10,12 | 31 | 46 |4.9| 34,560 | 150 ~ 315 %/4\
0790 01538135 -135| 2 38.1 |135 55| M36 X 3 | 36 9.52/42.06| 3,5,7,8,10,12 | 31 | 46 |5.9| 37,800 | 150 ~ 315 EE
5 F
g7
27
W F Yy FRU 3,57,81012 4 XDAZ—Id& 1 BREIHBLTVET, 5
One clamp nut and spacers (size 3, 5, 7, 8, 10, and 12 / one each) are included. w i
E
R
TF32f Ordering Example z %
5
BT30 - SCA12.7 - 75 -
VADNREPA D1 ZEHLRT (L) 2E
Shank size Projection length a7
=3
S
57
Lk
g%
=1
)
T £
3 7
.
&
S &
2
o 4
g4
8
$1m
=317
57
22
2%
£ F
g ¥
$7
g
i
BFHmbTABIEEL, Specials on request




AL RAYvST7—I\
Side Cutter Arbor

A\ JISHEISA ARUAYILY—H,
BT : For JIS side cutter and metal saw.

HSKAJEIFIC 30 HI
HSK-T H3 H4 H6
C D1 24
UTS ]
ST - o] Heol e
Al =
B
AV
=) 30 Ht H4 o
27 . B1 H3 5
7
7 S —
52 — I Jolol ()| fto T L c )
2y - G1
g %
51
e 5

AHO AV v JITIIBTY v VB TIVAZ Y FEZDFEH ATEITE T,
IBAHOY vV VBRD Y —Z2 FINA TBETIWAZY FIZT =SV bINA TERYANRIETHBTEITE T,

Retention stud for BT shank can be used as is for AHOA shank.
Retention stud with coolant pipe for old AHO shank can be used by removing the coolant pipe.

J3p|OH 0497 .Y
WSSO

~
>

e

g5 For metric size

g i BHmad—F AL ﬁ%t‘y’}—'ﬁ

T e

4: 328060113075 pMoac ) -SCA13-75 13 75 M12X1.25 3,5,7,8,10, 12 28,510 50

iy 3280 60116075 .SCA16-75 2 16 (75 26 M14X15 16 4 172  3,57,8,10,12 13 22 07 28510 | 5063

o7 3280 60122075 .SCA22-75 2 22 75 34 M0X15 |21 6 236 3,57.810,12 18 30 11 28510 | 60~125

% v

Z 328060313060 A, -SCA13-60 1 13 60 20 MIX125 15 - - | 35781012 12 17 32,400 50
3280 60313090 90 1 13 90 20 MI2X125 15 - - | 35781012 12 17 33690 | 50
3280 60316075 .SCA16-75 2 16 |75 26 M14X15 16 4 172  3,57.8,10,12 13 22 32400 | 50~63
3280 60316105 405 2 16 10526 MI4X15 16 4 172  3,57,810,12 13 22 33690 | 50~63
3280 60322075 .SCA22-75 2 22 75 34 M0X15 21 6 172 3,57,8,10,12 18 30 32400 | 60~125
3280 60322120 420 2 | 22 12034 M20X15 |21 6 236  3,57.8,10,12 18 30 33600 | 60~125
3280 60327075 .SCA27-75 2 | 27 |75 40 M24X2 |25 7 236 3,57.8,10,12 |21 32 32400 | 75~100
3280 60327120 420 2 27 120 40 M24X2 |25 7 | 236 3,57,810,12 |21 32 33690 | 75~100
3280 60332090 .SCA32-90 2 | 32 90 46 M30X2 (30 8 236 35781012 26 41 34,990 | 100~250
328060513075 | ZABL ) -SCA13-75 | 1 13 75 20 MIX125 15 - - | 35781012 12 17 38880 | 50
3280 60513105 405 1 | 13 105 20 MI2X125 15 - - | 3,57.8,10,12 12 17 41470 50
3280 60516090 .SCA16-90 2 16 90 26 MI4X15 16 4 172 3,57,810,12 13 22 41470 | 50~63
3280 60516120 420 2 | 16 120 26 M14X15 |16 4 172 | 3,57,8,10,12 13 22 42760 | 50~63
3280 60522090 .SCA22-90 2 22 90 34 M0X15 21 6 236 35781012 18 30 41470 | 60~125
3280 60522135 435 2 22 13534 M20X15 |21 6 236 3,57,810,12 |18 30 44,060 | 60~125
3280 60527090 .SCA27-90 2 | 27 (90 40 M4X2 (25 7 29 | 3,57,81012 21 32 #1470 | 75~100
3280 60527135 435 2 | 27 13540 M24X2 (25 7 29 | 357,810,122 21 32 44060 | 75~100
3280 60532090 .SCA32-90 2 32 |90 46 M30X2 30 8 34  3,57,810,12 26 41 41470 | 100~250
3280 60532135 435 2 32 13546 M30X2 30 8 34 | 35781012 26 41 44,060 | 100~250
3280 60540090 .SCA40-90 2 40 90 55 M36X2 36 10 425 3,57,8,10,12 31 46 #1470 | 150~315
3280 60540135 435 2 | 40 135 55  M36X2 |36 10 425 3,57,8,10,12 31 46 45360 | 150~315

268 BHHmETABIEEL, /w Specials on request




A YFHA XN 2
For Inch size
BEhy 4§
Emmd—F Bz )
Type L1|C1 G1 H1|B1| K1 H4 | H6 Cutter dia.
o Lo l 5 .. Example

328061112075 | \1\o30, -SCA12.7 12.7 M12x1.25 35,7,810,12 28510| 50 =
3280 61115075 -SCA15.875 -75 | 2 15875| 75 26 | M14x1.5 16 3.18 17.42| 35,7,810,12 | 13 | 22 128,510 50~63
3280 61122075 -SCA22.225 -75 2 122225 75| 34 | M20x1.5 | 21 |3.1823.82 | 3,5,7,8,10,12 | 18 | 30 | 28,510 60~63 %
3280 61312060 An’g;r(;A -SCA12.7 -60 1 127 | 60 | 20 | M12x1.25 15 — | — | 357.8,10,12 | 12 | 17 | 32,400 50 C
3280 61312090 -90 1 127 | 90 | 20 | M12x125| 15 | — | — | 3,57,8,10,12 | 12 | 17 | 33,690 50 ;JTTSi
3280 61315075 -SCA15.875 -75 2 15875 75| 26 = M14x15 16 3.1817.42| 3,57,8,10,12 | 13 | 22 | 32,400 50~63 E
3280 61315105 -105| 2 15875105 26 | M14x1.5 | 16 |3.18 17.42| 35,7,8,10,12 | 13 | 22 | 33,690 50~63 REgas
3280 61322075 -SCA22.225 -75 | 2 22225| 75 34 | M20x1.5 21 3.18 23.82 | 35,7,810,12 | 18 | 30 | 32,400 60~63 AR
3280 61322120 120 | 2 122225120 34 | M20x1.5 | 21 |3.18|23.82 | 3,5,7,8,10,12 | 18 | 30 | 33,690 60~63 23
3280 61325075 -SCA25.4 -75 2 | 254 75|40 M24x2 | 25 6.35/27.78 | 3,57,8,10,12 | 21 | 32 | 32,400 75~125 é__, Z
3280 61325120 120 | 2 254 [ 120 40 | M24x2 | 25 |6.35 27.78 | 3)5,7,8,10,12 | 21 | 32 | 33,690 75~125 s %
3280 61331090 -SCA31.75 -90 | 2 3175 | 90 46 | M30x2 30 7.92 3492 35,7,8,10,12 | 26 | 41 34,990 100~250 = b4
3280 61512075 AnIOB;r(;A -SCA12.7 -75 1 127 | 75 | 20 | M12x125 | 15 | — | — | 3,57,8,10,12 | 12 | 17 | 38,880 50 % E}
3280 61512105 -105| 1 | 127 [105 20 | M12x125 | 15 | — — | 3)57,8,10,12 | 12 | 17 141,470 50 § ITII:
3280 61515090 -SCA15.875 -90 | 2 15875 90 | 26 | M14x1.5 16 3.18 17.42| 35,7,8,10,12 | 13 | 22 | 41,470 50~63 hkd
3280 61515120 -120 | 2 15875120 26 | M14x1.5 | 16 3.18 1742 3,57,8,10,12 | 13 | 22 | 42,760 50~63 =
3280 61522090 -SCA22.225 -90 2 122225 90 | 34 | M20x1.5 | 21 3.18|23.82| 3,57,8,10,12 | 18 | 30 | 41,470 60~63 § g
3280 61522135 -135| 2 122225135 34 | M20x1.5 | 21 |3.18 23.82 | 35,7,8,10,12 | 18 | 30 | 44,060 60~63 z ,T,
3280 61525090 -SCA25.4 90 | 2 254 | 90 | 40 | M24x2 | 25 |6.35 27.78 | 35,7,8,10,12 | 21 | 32 141,470 75~125 g%
3280 61525135 135 2 | 254 | 135 40 | M24x2 | 25 6.35 27.78 | 3,57,8,10,12 | 21 | 32 | 44,060 75~125 e
3280 61531090 -SCA31.75 -90 2 3175 90 | 46 | M30x2 | 30 |7.92)34.92 | 357,8,10,12 | 26 | 41 | 41,470 100~250 g E
3280 61531135 -135| 2 | 31.75 | 135 46 | M30x2 | 30 |7.92 3492 3578,10,12 | 26 | 41 | 44,060 100~250 ol
3280 61538090 -SCA38.1 90 | 2 | 381 | 90 | 55 | M36x3 | 36 |9.52 42.06 | 3,5,7,8,10,12 | 31 | 46 141,470 150~315 §7
3280 61538135 -135| 2 | 381 | 135 55 | M36x3 | 36 9.52 42.06  35,7,8,10,12 | 31 | 46 | 45,360 150~315 4
w Y
$
WofiFFy FRU 357,810,124 XDHS5—IEE 1 EAEICHBLTOET. Tz
One clamp nut and spacers (size 3, 5, 7, 8, 10, and 12 / one each) are included. 5
T3 Ordering Example 2 é
WBT-AHO40A - SCA12.7 - 75 25
AHO v+ VA4 X D1 ZEHLRE(L
AHO Shank size Projection length

<4

J3P|OH uondUNy | walsAs (00} d10qHIN|A

puSh it e - S RO A

BHHmETABIEEL, /w Specials on request 269



AL RAvST7—I\
Side Cutter Arbor

JISfIEm7 51 ABRUATILY —H.
For JIS side cutter and metal saw.

V-)SH

BT
AHO-A
HSK-T
— C
=5V K=R L1 30 Hi~]
Typet Coolant tube Hz Hs ~ H uTs
- 2~ T 4T ST
t — ! f )
= =Cx = Gi1 D1 Ci Ci1 A i
! F—t I 1Gi ) ey
Type? [k S Li 30—FH1~ 2z
Coolant tube z 7z
1= 4 kHa- R
i <Ki H2 2
- JK R 8¢
“ os T 4 ? B ? ? i |5
=== f} Gt D1 C1 + Ci1 C1 A gx
iR R H | ie
2R
B
SR
BEHYRE &4
Cutting dia. -
Example z D
5540 13013075 | HSK40A -SCA13 -75 1 M12x1.25 - 3,5,7,8,10,12 30,880 50 g E
5540 13016075 -SCA16 -75 2 16 75 | 26 | M14x15 | 16 4 17.2 | 3,5,7,8,10,12 13 22 30,880 50 ~ 63 2 7
5540 13022075 -SCA22 -75 2 22 75 | 34 | M20x1.5 | 21 6 23.6 | 3578,10,12 18 30 30,880 60 ~ 125 E_ v
5540 13112075 -SCA12.7 -75 1 12.7 75 | 20 | M12x1.25 | 15 = = 3,5,7,8,10,12 12 17 30,880 50 27
5540 13115075 -SCA15.875 -75 2 15.875 | 75 | 26 | M14x15 |16 | 318 | 1742 | 35,7,8,10,12 13 22 30,880 50 ~ 63 1
5540 13122075 -SCA22.225 -75 2 22225 | 75 | 34 | M20x1.5 | 21 | 3.18 | 23.82  3,5,7,8,10,12 18 30 30,880 60 ~ 125 )
5540 14013075 | HSK50A -SCA13 -75 1 13 75 | 20 | M12x1.25 | 15 — — 3,57,8,10,12 12 17 31,320 50 E_ 7|J
5540 14016075 -SCA16 -75 2 16 75 | 26 | M14x15 | 16 4 17.2 | 3,5,7,8,10,12 13 22 31,320 50 ~ 63 B
5540 14022075 -SCA22 -75 2 22 75 | 34 | M20x1.5 | 21 6 23.6 | 3,57,8,10,12 18 30 12 | 31,320 60 ~ 125 z
5540 14112075 -SCA12.7 -75 1 12.7 75 | 20 | M12x1.25 | 15 = = 3,5,7,8,10,12 12 17 31,320 50
5540 14115075 -SCA15.875 -75 2 15.875 | 75 | 26 | M14x15 | 16 | 3.18 | 1742 | 35,7,8,10,12 13 22 31,320 50 ~ 63 Py 55
5540 14122075 -SCA22.225 -75 2 22225 | 75 | 34 | M20x1.5 | 21 | 3.18 | 23.82 | 3)5,7,8,10,12 18 30 31,320 60 ~ 125 § 5
5540 75013060 | HSK63A -SCA13 -60 -H 1 13 60 | 20 | M12x1.25 | 15 — — 3,5,7,8,10,12 12 17 1.0 | 33,690 50 = ;
5540 75013090 90 -H 1 13 90 | 20 | M12x1.25 | 15 = = 3,5,7,8,10,12 12 17 1.0 | 35,100 50 g ¥
5540 75016075 -SCA16 75 -H| 2 16 75 | 26 | M14x15 | 16 4 17.2 | 3,5,7,8,10,12 13 22 14 | 33,690 50 ~ 63 =9
5540 75016105 -105 -H| 2 16 105 | 26 | M14x15 | 16 4 17.2 | 3,5,7,8,10,12 13 22 1.5 | 35,100 50 ~ 63
5540 75022075 -SCA22 75 -H| 2 22 75 | 34 | M20x1.5 | 21 6 236 | 35,7,8,10,12 18 30 18 | 33,690 60 ~ 125
5540 75022120 =120 -H| 2 22 120 | 34 | M20x15 | 21 6 236 | 357,8,10,12 18 30 1.8 | 35,100 60 ~ 125
5540 75027075 -SCA27 75 -H| 2 27 75 | 40 M24x2 25 7 29 3,5,7,8,10,12 21 32 2.0 | 33,690 75 ~ 100
5540 75027120 120 -H| 2 27 120 | 40 M24x2 25 7 29 3,5,7,8,10,12 21 32 24 | 35100 75 ~ 100
5540 75032090 -SCA32 90 -H| 2 32 90 | 46 M30x2 30 8 34 3,5,7,8,10,12 26 41 24 | 33,690 100 ~ 250
554077013075 | HSK100A -SCA13 -75 -H 1 13 75 | 20 | M12x1.25 | 15 = = 3,5,7,8,10,12 12 17 43 | 40,500 50 § h
5540 77013105 -105 -H 1 13 105 | 20 | M12x1.25 | 15 — — 3,5,7,8,10,12 12 17 44 | 43,2200 50 g ?
5540 77016090 -SCA16 90 -H| 2 16 90 | 26 | M14x15 | 16 4 172 | 3,5,7,8,10,12 13 22 42 | 43,200 50 ~ 63 g Z
5540 77016120 -120 -H| 2 16 120 | 26 | M14x15 | 16 4 17.2 | 3,5,7,8,10,12 13 22 44 | 45,900 50 ~ 63 g IIJ
5540 77022090 -SCA22 90 -H| 2 22 90 | 34 | M20x1.5 | 21 6 236 | 3,5,7,8,10,12 18 30 44 | 43,2200 60 ~ 125 g%
5540 77022135 -135 -H| 2 22 135 | 34 | M20x15 | 21 6 236 | 3,5,7,8,10,12 18 30 4.7 | 45,900 60 ~ 125 -
5540 77027090 -SCA27 90 -H| 2 27 90 | 40 M24x2 | 25 7 29 3,5,7,8,10,12 21 32 45 | 43,200 75 ~ 100 5 fﬁ.’%
5540 77027135 135 -H| 2 27 135 | 40 M24x2 25 7 29 3,5,7,8,10,12 21 32 49 | 45900 75 ~ 100 §' 1;1
5540 77032090 -SCA32 90 -H| 2 32 90 | 46 M30x2 | 30 8 34 3,5,7,8,10,12 26 4 47 | 43,200 100 ~ 250 z &
5540 77032135 135 -H| 2 32 135 | 46 M30x2 30 8 34 3,5,7,8,10,12 26 M 52 | 45900 100 ~ 250 = ’,}!;
5540 77040090 -SCA40 90 -H| 2 40 9 | 55 M36x3 36 10 425 | 3,57,:8,10,12 31 46 49 | 43,200 150 ~ 315 -
5540 77040135 135 -H| 2 40 135 ] 55 M36x3 36 10 425 | 357,:8,10,12 31 46 59 | 47,190 150 ~ 315

HSK63A. HSK100AICIZBETI Z 27 IVY 5V TIRHBZEWVTWLE Y, HSKB3A, HSK100A have manual clamp holes in the shank.

1. BTy MNRU3,57810128 4 ZDH 7 — 3 BEREIHBLTVET, One clamp nut and spacers (size 3, 5, 7, 8, 10, and 12/ one each) are included.
2. 5=V NR-RIABLTEYETH KERIFE Y 2R I—7—5V MISHIELTEYE-A.  Coolant tube is included, although center through coolant is not possible with this model.
T3E3XHI Ordering Example T3E32H Ordering Example
RZa7IVI ST L (HSK40A, HSK50A) RZaT7 IV T T7YFE (HSK63A. HSK100A)
Without manual clamping hole (HSK40A, HSK50A) With manual clamping hole (HSK63A, HSK100A)
HSK40A - SCA13 - 75 HSK63A - SCA12.7 - 75 - H
IYVIHARX 14 O—& REHLREL) YA RX 1ArO—& REHLREL) vza7l
Shank size D1 Projection length Shank size D1 Projection length 95V TRM
With manual
clamping hole

DNSH 4)SH INSH

E NN

SUOJSUBWI] YURYS [00]

BHHmETABIEEL, /w Specials on request




